Memory (KiB)

Memory to solve an instance
(UNSAT answers, category DEC-SMALLINT-LIN)

1.4e+07 T T T T.
borg pb-dec-11.04.03 —+—
bsolo 3.2 -
clasp 2.0-R4191 --->---
1.2e+07 - E MinisatID 2.5.2 (fix &
| MinisatD 2.5.2-gmp
\ Sat4j CuttingPlanes - -< -
i — Satdj Res//CP 2.3.0 -
1e+07 | + Sat4j Resolution 2.3 2
SCIP spx SCIP 2.0.1. —=—
IL SCIP spx 22011-06-1 —
SCIP spx E SCIP 2.0. v
8e+06 - SCIP spx E_22011-06 ¢
wbo 1.6
6e+06 H
4e+06 Tl—
+
|
2e+06 | j-
0 et ——
0 50 100 150 200 250

number of solved instances



